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CA Inter CMA - Version 3 Batch
Chapter 7 : Job & Batch Costing : Q. 5 - Page 7 (Volume II)

Query : Sir, there is a minor error in your PPT presentation of the answer.
The extra cost incurred is the difference between (4,896 - 4,320) = Rs. 576.
However, it is wrongly written as Rs. 567 in the PPT presentation.

Solution :

Yes, your observation is correct.

It shows that you are studying the subject carefully. Congratulations !
There was a typing error in the PPT presentation.

It is rectified now.
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